
 

 

      WINCH MOUNT INSTALLATION INSTRUCTIONS 

SUZUKI: 450 King Quad 07-10 / 500 King Quad 09-17 

      700 King Quad 05-07 / 750 King Quad 08-19 

 

 

 

                                                                                                                NOTE: Fairlead is not included with this winch Mount Kit 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

FOR QUESTIONS OR COMMENTS PLEASE CALL: 320-964-1616  ( 7:00 to 4:30 CST )                                            INST1554 

ITEM QTY. PART# DESCRIPTION

1 1 1554-1 Winch Mount Plate

2 4 HDW2050 5/16 x 3/4 Hex Bolt

3 6 HDW7058 5/16 Nylock Nut

4 4 HDW9002 5/16 Flat Washer

5 2 HDW2056 5/16 x 2 Hex Bolt

6 2 HDW9407 7/8 U-Clamp


